COMPUTER SYSTEMS RESEARCH 
Code Writeup of your program, example report form 2008-2009 

1. Your name: __Jim Kaplan______________________, Period: _5___ 

2. Date of this version of your program: __10/31/2008__ 

3. Project title: _Traffic Model Simulation______ 

4. Describe how your program runs as of this version.  Include

-- files that may be needed

-- algorithms, specific procedures or methods you wrote

-- kinds of input your program uses

-- screenshots, what kinds of output does your program have

-- does your program handle errors, or does it crash on errors of input?

-- tests: summarize the basic analysis and testing of this version of your program

First, In order to have successful pathing around a two dimensional environment, the car looks a certain distance in front of it, on both the left and right sides of the car (Fig 1). If one of the two spots triggers (it detects a color that isn’t road), it turns away from that spot.
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Fig 1


The way that wave patterns would be achieved in a 2 dimensional environment would be to use a 2 dimensional version of the Nagel-Schreckenberg. Instead of looking ahead in the cells until you reach the first occupied cell, a 2 dimensional version would look for the first car in front of it in an arc (Fig 3).  And instead of changing the speed with whole numbers, the speed would be a factor of the distance between the two cars.


To have the cars be on different lanes, they will see each lane as a road. To switch lanes, first they will have to have someone in front of them go very slowly so they have incentive to switch, then they check in an area to the side of them (also Fig. 2). If the area is clear, they will move to the other lane and see the other lane as a new road. Since the 2 lanes will be seen by the cars as a different color, the pathing will work for each individual lane.
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5. What do you expect to work on next quarter, in relation to the goal of your project for the year? 

I expect to work on getting the aforementioned methods running. First I have to get the collision and the 2d Nagel-Schreckenberg working, then the different lanes and whatnot. I have a lot to do.
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